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P - II (1+1+1) G / 20 (N)

2020

ECONOMICS (General)
Paper Code : II - A & B

[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : II - A
Full Marks : 50 Time : One Hour

Choose the correct answer.

Each question carries 2 marks.

1. Detect the relationship between AR & MR under monopoly market —

(A) AR = MR

(B) AR > MR

(C) AR < MR

(D) AR  MR

1Ð ~„þöì‰þ!Ýþëûy îy‹yöìîû †vþü ç ²Ìy!hsþ„þ xyöìëûîû ›öì•Ä ¢Á™„Åþ !˜•Åyîû’ „þîûé ôôôé

(A) AR = MR

(B) AR > MR

(C) AR < MR

(D) AR  MR

2. What do you mean by the equilibrium condition of a firm —

(A) Marginal Revenue will be equal to marginal cost

(B) Marginal cost curve will intersect the Marginal revenue from downward

(C) Only (A) is true

(D) (A) & (B) both is true

2Ð šþyöì›Åîû ¦þyîû¢yöì›Äîû Ÿ“Åþ îœöì“þ !„þ öîyGþÚ

(A) ²Ìy!hsþ„þ xyëû ç ²Ìy!hsþ„þ îÄëû ¢›y˜ £öìî

(B) ²Ìy!hsþ„þ îÄëû öîû…y ²Ìy!hsþ„þ xyëû öîû…yöì„þ ˜#‰þ öíöì„þ öŠé” „þöìîû vþzþ™öìîû vþzàþöìî

(C) Ö•%›ye (A) ¢“þÄ

(D) (A) ç (B) vþz¦þëû£z ¢“þÄ
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3. Which of the following cannot be seen in the monopoly market ?

(A) Price discrimination

(B) Profit maximization

(C) Always positive profit

(D) Elastic demand

3Ð ~„þöì‰þ!Ýþëûy îy‹yöìîû ˜#öì‰þîû ö„þy ä̃!Ýþ ö”…y ëyëû ˜yÚ

(A) ”y› !îöì¦þ”„þîû’

(B) ›%̃ yšþy ¢îÅy!•„þ#„þîû’

(C) ¢îÅ”y£z •˜yd„þ ›%̃ yšþy

(D) !ßþi!“þßþiyþ™„þ ‰þy!£”y

4. The relationship of the slope of AR and MR under monopoly market
structure —

(A) Slope of AR = ½ of the slope of MR

(B) Slope of AR = Slope of MR

(C) Slope of AR = 2 Slope of MR

(D) None of the above

4Ð ~„þöì‰þ!Ýþëûy „þyîûîyîû#îû AR ç MR-~îû ‘þyöìœîû ¢Á™„Åþ éôôôé

(A) AR öîû…yîû ‘þyœ = ½ MR öîû…yîû ‘þyœ

(B) AR öîû…yîû ‘þyœ = MR öîû…yîû ‘þyœ

(C) AR öîû…yîû ‘þyœ = 2 MR öîû…yîû ‘þyœ

(D) ö„þyöì̃ yÝþy£z ˜ëû
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5. Which of the following depicts the true relationship between VMP and MRP
under perfectly competitive input market?

(A) VMP = MRP

(B) VMP > MRP

(C) VMP < MRP

(D) None of the above

5Ð ˜#öì‰þîû ö„þy ä̃!Ýþ þ™)’Å ²Ì!“þöìëy!†“þy›)œ„þ vþzþ™„þîûöì’îû îy‹yöìîû VMP ç MRPéôé~îû ›öì•Ä ¢!àþ„þ
¢Á™„Åþ îÄ_« „þöìîûÚ

(A) VMP = MRP

(B) VMP > MRP

(C) VMP < MRP

(D) ö„þyöì̃ yÝþy£z ˜ëû

6. According to Ricardo what is rent?

(A) Rent is the value of the land

(B) Rent is the value of land use

(C) Rent is the use value of the original and indestructible energy of land

(D) All the above

6Ð !îû„þyöìvÅþyîû ›öì“þ …y‹˜y „þ#Ú

(A) …y‹˜y £œ ‹!›îû ›)œÄ

(B) …y‹˜y £œ ‹!› îÄî£yöìîûîû ›)œÄ

(C) …y‹˜y £œ ‹!›îû xy!” ç x„,þ!e› vþzêþ™y!”„þy Ÿ!_« îÄî£yöìîûîû ›)œÄ

(D) vþzþ™öìîûîû ¢î„þÝþy£z !àþ„þ
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7. What is the reason of wage differential?

(A) Nature of work

(B) Spot differential of work

(C) Differential of working environment

(D) All the above

7Ð ›‹%!îû £yöìîûîû þ™yíÅöì„þÄîû „þyîû’ öœ…Ð

(A) „þyöì‹îû ²Ì„,þ!“þ†“þ þ™yíÅ„þÄ

(B) „þyöì‹îû ßþiy˜†“þ þ™yíÅ„þÄ

(C) „þyöì‹îû þ™!îûöìîŸ†“þ „þyîûöì’ ›‹%îû# þ™yíÅ„þÄ

(D) vþzþ™öìîûîû ¢î„þÝþy£z !àþ„þ

8. Define Economic profit.

(A) Profit that equals to wage of the entrepreneur

(B) Profit which is greater than the wage of the entrepreneur

(C) Profit earned from economic activities only

(D) Total remuneration of the entrepreneur for the productive activities

8Ð xíÅ÷ì̃ !“þ„þ ›%̃ yšþyîû ¢‚Kþy ”yç éôôôé

(A) öë ›%̃ yšþyîû ›öì•Ä ö„þîœ›ye vþzöì”Äy_«yîû ›‹%!îû£z íyöì„þ

(B) öë ›%̃ yšþyîû ›öì•Ä ö„þîœ›ye vþzöì”Äy_«yîû ›‹%!îûîû xöìþ™Çþy x!•„þ

(C) öë ›%̃ yšþyîû ›öì•Ä ö„þîœ›ye xíÅ÷ì̃ !“þ„þ „þy‹ öíöì„þ£z x!‹Å“þ £ëû

(D) vþzöì”Äy_«y vþzêþ™y”˜›%…# „þy‹ öíöì„þ ö›yÝþ öë þ™!îû›y’ ›%̃ yšþy x‹Å̃  „þöìîû
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9. What is differentiated product?

(A) The commodities are close substitute to each other

(B) There is difference with respect to the wrappers

(C) There are differences with respect to the weight

(D) All the above

9Ð þ™,í„þ#„,þ“þ oîÄ îœöì“þ !„þ öîyGþÚ

(A) oîÄ=!œ þ™îûßþ™öìîûîû ‡!˜Ûþ þ™!îûî“Åþ oîÄ

(B) oîÄ=!œîû ›öì•Ä ö›yvþüöì„þîû þ™yíÅ„þÄ íyöì„þ

(C) oîÄ=!œîû ~„þ„þ ¢›)öì£îû ç‹˜†“þ þ™yíÅ„þÄ íyöì„þ

(D) vþzþ™öìîûîû ¢î„þÝþy£z !àþ„þ

10. According to Keynes which of variables determine the equilibrium rate of
interest ?

(A) Demand and supply of the commodity

(B) Demand and supply of money

(C) Demand for investment and supply of saving

(D) Demand and supply of loanable fund

10Ð ö„þ£zöìªîû ›öì“þ ¢%öì”îû £yîû !˜•Åy!îû“þ £ëû ö„þy ä̃ ”%!Ýþ Ÿ!_«îû ‡y“þ ²Ì!“þ‡yöì“þÚ

(A) oöìîÄîû ‰þy!£”y ç öëy†y˜

(B) ˜†” xöìíÅîû ‰þy!£”y ç öëy†y˜

(C) !î!˜öìëûyöì† ‰þy!£”y ç ¢Mþéöìëûîû öëy†y˜

(D) }’öìëy†Ä “þ£!îöìœîû ‰þy!£”y ç öëy†y˜
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11. Which of the economic variables determines the speculative demand for money?

(A) Consumers’ income

(B) Rate of Interest

(C) Supply of money

(D) All the above

11Ð šþyÝþ„þy „þyîûîyöìîû xöìíÅîû ‰þy!£”y !˜•Åy!îû“þ £ëû éôôôé

(A) ö¦þy_«yîû xyëû myîûy

(B) ¢%öì”îû £yîû myîûy

(C) xöìíÅîû öëy†y˜ myîûy

(D) vþzþ™öìîûîû ¢î„þÝþy£z !àþ„þ

12. According to liquidity preference theory what will happen to the rate of interest
if the demand for liquid cash rises?

(A) Interest rate will diminish

(B) Interest will rise

(C) Interest rate will remain unchanged

(D) Cannot be predicted

12Ð “þyîûœÄ þ™Šé¨ “þöì_ ́ ˜†” xöìíÅîû ‰þy!£”y îyvþüöìœ ¢%öì”îû £yöìîûîû vþzþ™îû !„þ ²Ì¦þyî þ™vþüöìîÚ

(A) ¢%öì”îû £yîû £Éy¢ þ™yöìî

(B) ¢%öì”îû £yîû î,!kþ þ™yöìî

(C) ¢%öì”îû £yîû xþ™!îûî!“Åþ“þ íy„þöìî

(D) îœy ¢½þî ˜ëû
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13. Which of the following is the suitable policy of recovery if the economy falls
into the liquidity trap?

(A) Monetary policy

(B) Fiscal policy

(C) Both

(D) None of the above

13Ð “þyîûœÄ š¤þy” öíöì„þ xíÅ̃ #!“þöì„þ vþzkþyöìîûîû vþzþ™yëû „þ#Ú

(A) xy!íÅ„þ ˜#!“þ

(B) !šþ¢„þyœ ˜#!“þ

(C) vþz¦þëû£z

(D) vþzþ™öìîûîû ¢î„þÝþy£z !àþ„þ

14. Which of the following is fiscal instrument for the government?

(A) Open market operation

(B) Cash Reserve Ratio

(C) Bank rate

(D) Income Tax

14Ð ˜#öì‰þîû ö„þy ä̃!Ýþ ~„þ!Ýþ ¢îû„þyöìîûîû !šþ¢„þÄyœ ˜#!“þÚ

(A) ö…yœy îy‹yöìîûîû !e«ëûy„þœyþ™

(B) ˜†” ‹›yîû x %̃þ™yöì“þ þ™!îûî“Åþ˜

(C) îÄyBþ £yöìîûîû þ™!îûî“Åþ˜

(D) xyëû„þîû
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15. Which of the following group of people is not benefitted from inflation?

(A) Fixed salaried people

(B) Debtors

(C) Producers

(D) Traders

15Ð ›%oyßþ³þ#!“þîû ²Ì¦þyöìî ˜#öì‰þîû ö„þy ä̃ ö×!’îû ›y %̃¡ì vþzþ™„,þ“þ £ëû ˜yÚ

(A) ‰%þ!_«îkþ !ßþiîû xyöìëûîû ›y %̃¡ì

(B) }’@ùÌ£#“þy

(C) vþzêþ™y”„þ

(D) îÄî¢yëû#

16. Which of the following is a direct tax ?

(A) Excise Duty

(B) Sales Tax

(C) Income Tax

(D) None of these

16Ð ˜#öì‰þîû ö„þy ä̃!Ýþ ²Ì“þÄÇþ „þîûÚ

(A) xyî†yîû# ÖÍñ

(B) !îe«ëû„þîû

(C) xyëû„þîû

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
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17. Where free trade is not expected?

(A) Employment generation

(B) Inviting foreign capital

(C) Achieving consumption variation

(D) To protect the infant domestic industry

17Ð ˜#öì‰þîû ö„þy ä̃ öÇþöìe xîy• îy!’‹Ä „þy›Ä ˜ëûÚ

(A) „þ›Å¢‚ßþiy˜

(B) ÷îöì”!Ÿ„þ þ™%¤!‹îû xy£ý˜

(C) ö¦þyöì†îû ÷î!‰þeÄ¢y•˜

(D) ö”Ÿ#ëû !ŸÖ !ŸöìÒîû ¢‚îûÇþ’

18. How much credit will be created from a primary deposit of 25 crores and
cash reserve ratio of 5 percent ?

(A) 125 crores

(B) 50 crores

(C) 500 crores

(D) None of the above

18Ð ö„þyöì̃ y ~„þ!Ýþ xyíÅ îÄîßþiyëû ˜†” ‹›yîû x %̃þ™y“þ 5 Ÿ“þy‚ŸÐ ~£z xyíÅ îÄîßþiyëû 25 ö„þy!Ýþ
Ýþy„þyîû ²Ìyí!›„þ xy›y˜“þ ¢,!ÜT £öìœ ö›yÝþ }’ ¢,!ÜTîû þ™!îû›y’ „þ“þÚ

(A) 125 ö„þy!Ýþ

(B) 50 ö„þy!Ýþ

(C) 500 ö„þy!Ýþ

(D) vþzþ™öìîûîû ö„þyöì̃ yÝþy£z !àþ„þ ˜ëû
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19. What will happen to the supply of money if the government increases the sell
of securities in open market?

(A) Money supply will fall

(B) Money supply will rise

(C) Money supply will remain constant

(D) Unpredictable

19Ð ö…yœy îy‹yöìîû }’þ™e !îe«ëû î,!kþ „þîûöìœ xöìíÅîû öëy†yöì̃ îû vþzþ™îû !„þ ²Ì¦þyî þ™vþüöìîÚ

(A) ˜†” xöìíÅîû öëy†y˜ £Éy¢ þ™yöìî

(B) ˜†” xöìíÅîû öëy†y˜ î,!kþ þ™yöìî

(C) ˜†” xöìíÅîû öëy†y˜ xþ™!îûî!“Åþ“þ íy„þöìî

(D) îœy ¢½þî ˜ëû

20. In India indirect taxes are levied by —

(A) Only Central Government

(B) Only State Government

(C) Both Central and State Government

(D) None of the above

20Ð ¦þyîû“þîöì¡ìÅ x²Ì“þÄÇþ „þîû xy”yëû „þöìîûé ôôôé

(A) ö„þîœ›ye ö„þw#ëû ¢îû„þyîû

(B) ö„þîœ›ye îûy‹Ä ¢îû„þyîû

(C) ö„þw#ëû ç îûy‹Ä ¢îû„þyîû vþz¦þöìëû£z

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû
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21. Which one of the following is not included into the social security measures of
Indian workers in the formal sectors ?

(A) Provident Fund

(B) Old age Pension

(C) Maternity leave

(D) Life Insurance scheme

21Ð ˜#öì‰þîû ö„þy ä̃!Ýþ ¦þyîû“þ#ëû ×!›„þöì”îû ¢y›y!‹„þ ¢%îûÇþy îÄîßþiyîû xhsþ¦%Åþ_« ˜ëûÚ

(A) ¢y•yîû’ ¦þ!î¡ìÄ!˜!• “þ£!îœ

(B) îy•Å„þÄ ¦þy“þy

(C) ›y“,þc„þyœ#˜ Š%é!Ýþ

(D) ‹#î˜ î#›y ²Ì„þÒ

22. Which of the following is not a constituent of the Capital Market of India ?

(A) Equity

(B) Mutual Fund

(C) Gilt Edged Market

(D) None of the above

22Ð ö„þy ä̃!Ýþ ¦þyîûöì“þîû ›)œ•öì̃ îû îy‹yöìîûîû x‚Ÿ ˜ëûÚ

(A) £z„%þÄ£z!Ýþ

(B) !›vþz‰%þëûyœ šþyuþ

(C) Gilt Edged Market

(D) vþzþ™öìîûîû ö„þyöì̃ yÝþy£z ˜ëû
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23. Which one is the latest addition to Indian export bundle?

(A) Jute

(B) Iron ore

(C) Crude oil

(D) Gems and ornaments

23Ð ¦þyîûöì“þîû îû®y˜# îy!’öì‹Ä ˜“%þ˜ oîÄ ¢‚öìëy‹˜ ö„þy ä̃!ÝþÚ

(A) þ™yÝþ

(B) öœï£ xy„þ!îû„þ

(C) …!˜‹ ö“þœ

(D) îûbéôéxœ‚„þyîû

24. Why the Government of India adopted the policy of Import Substitution?

(A) To protect the infant industry

(B) To save the foreign currency

(C) Inability to expand export

(D) All the above

24Ð ¦þyîûöì“þ xy›”y˜# þ™!îûî“Åþ“þyîû ˜#!“þ x %̃¢îûöì’îû „þyîû’ ö„þy ä̃!ÝþÚ

(A) ¦þyîûöì“þîû !ŸÖ !ŸöìÒîû ¢‚îûÇþ’

(B) !îöì”Ÿ# ›%oyîû ¢y×ëû

(C) îû®y!˜ ²Ì¢yöìîû xþ™yîû†“þy

(D) vþzþ™öìîûîû ¢î„þÝþy£z ¢“þÄ
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25. Find the odd man out ?

(A) Cash Compensatory Scheme

(B) Duty Drawback Scheme

(C) Special Economic Zone

(D) Golden Handshake Scheme

25Ð ÷î¢y”,ŸÄþ™)’Å!Ýþ !˜öì”ÅŸ „þîûÐ

(A) Cash Compensatory Scheme

(B) Duty Drawback Scheme

(C) Special Economic Zone

(D) Golden Handshake Scheme
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P - II (1+1+1) G / 20 (N)

2020

ECONOMICS (General)
Paper Code : II - B

[New Syllabus]

Full Marks : 100 Time : Three Hours

The figures in the margin indicate full marks.

Section - I

1. Answer six questions taking any two from each of the groups : 5×6=30

Group - A

(a) Note the features of a market under monopolistic Competition.

(b) State the relation among marginal physical product, marginal revenue
product and value of marginal product.

(c) Explain the Ricardian concept of Rent.

(d) State the relation between the supply price and rent of an input.

Group - B

(e) What do you mean by Speculation?

(f) How bank rate works to control the supply of money?

(g) What do you mean by inflationary gap?

(h) What is burden of debt?

Group - C

(i) State the features of cottage industry in Indian economy.

(j) Write a short note on the Finance Commission of India.

(k) Explain the export substitution policy of India.

(l) Note the reasons of industrial sickness in India.
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Section - II

Answer all the questions. 10×3=30

2. Explain the short run equilibrium of a monopolist with a suitable diagram.

Or,

Discuss the marginal productivity theory of distribution.

3. Explain the credit creation mechanism of commercial bank with suitable
example.

Or,

Discuss the effect of inflation on different sections of people in the society.

4. Briefly discuss the sources of revenues of the government of India.

Or,

Discuss the social security measures of workers in India.

Section - III

Answer any two questions of the following : 2×20=40

5. (a) Discuss the salient featrures of a market under perfect competition.

(b) Discuss the short-run equilibrium position of a perfectly competitive firm.
10+10

6. (a) What do you mean by the demand for liquid cash in the Keynesian theory?

(b) How the equilibrium rate of interest is determined through the demand and
supply of liquid cash ? 10+10

7. (a) Analyse the steps taken by the government of India to increase her export
volume.

(b) Discuss the conditions of success of devaluation as a measure of export
enhancement. 10+10

8. Explain with suitable diagram the success and failure of collective bargaining
of the trade union with their employers. 20
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îDy %̃îy”
ö¢„þŸ˜ éôé 1

1Ð ²Ìöì“þÄ„þ !î¦þy† öíöì„þ ”%£z!Ýþ „þöìîû ö›yÝþ Šéëû!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 5×6=30

!î¦þy† éôé „þ

S„þV ~„þöì‰þ!Ýþëûy ²Ì!“þöìëy!†“þyîû ÷î!ŸÜTÄ=!œ öœ…Ð

S…V ²Ìy!hsþ„þ îyhßþî vþzêþ™§¬– ²Ìy!hsþ„þ xyëû vþzêþ™§¬ ç ²Ìy!hsþ„þ vþzêþ™öì§¬îû ›)öìœÄîû ›öì•Ä ¢Á™„Åþ
!îöìÙÕ¡ì’ „þîûÐ

S†V !îû„þyöìvÅþyîû ›öì“þ …y‹˜yîû •yîû’y!Ýþ îÄy…Äy „þîûÐ

S‡V vþzþ™„þîûöì’îû öëy†y˜ ”y›éôé~îû ¢yöìí …y‹˜yîû ¢Á™„Åþ !„þÚ

!î¦þy† éôé …

SˆV šþyÝþ„þy „þyîûîyîû îœöì“þ !„þ öîyGþÚ

S‰þV ˜†” xöìíÅîû öëy†y˜ !˜ëûsþföì’ îÄyBþ öîûÝþ !„þ¦þyöìî „þy‹ „þöìîûÚ

SŠéV ›%oyßþ³þ#!“þîû îÄî•y˜ îœöì“þ !„þ öîyGþÚ

S‹V }öì’îû ¦þyîû îœöì“þ !„þ öîyGþÚ

!î¦þy† éôé †

SGþV ¦þyîû“þ#ëû xíÅ̃ #!“þöì“þ „%þÝþ#îû !ŸöìÒîû ÷î!ŸÜTÄ=!œ ¢‚öìÇþöìþ™ öœ…Ð

S~ŒV ¦þyîû“þ#ëû xíÅ „þ!›Ÿöì̃ îû vþzþ™îû ~„þ!Ýþ ¢‚!Çþ® Ýþ#„þy öœ…Ð

SÝþV ¦þyîû“þ ¢îû„þyöìîûîû îû®y!˜ þ™!îûî“Åþ“þyîû ˜#!“þ!Ýþ îÄy…Äy „þîûÐ

SàþV ¦þyîû“þ#ëû !ŸöìÒîû îû&@À“þyîû „þyîû’ !„þÚ
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ö¢„þŸ˜ éôé 2

˜#öì‰þîû ²ÌÙÀ=!œîû vþz_îû ”yç ­ 10×3=30

2Ð ~„þöì‰þ!Ýþëûy „þyîûîyîû#îû ßþºÒ„þyœ#˜ ¦þyîû¢yöì›Äîû xîßþiy!Ýþ !‰þe¢£ îÄy…Äy „þîûÐ

xíîy–

î^ùÝþöì̃ îû ²Ìy!hsþ„þ vþzêþ™y”˜Ÿ#œ“þyîû “þ_!́Ýþ xyöìœy‰þ˜y „þîûÐ

3Ð îy!’!‹Ä„þ îÄyöìBþîû }’ ¢,!ÜTîû ²Ì!e«ëûy!Ýþ ~„þ!Ýþ vþz”y£îû’ ¢£öìëyöì† xyöìœy‰þ˜y „þîûÐ

xíîy–

‹˜‹#îöì̃  ›%oyßþ³þ#!“þîû ²Ì¦þyî xyöìœy‰þ˜y „þîûÐ

4Ð ¦þyîû“þ#ëû ¢îû„þyöìîûîû îûy‹öìßþºîû vþzê¢=!œ ¢‚öìÇþöìþ™ xyöìœy‰þ˜y „þîûÐ

xíîy–

¦þyîû“þ#ëû xíÅ îÄîßþiyëû ×!›„þöì”îû ¢y›y!‹„þ ¢%îûÇþy ²Ì„þÒ=!œ ¢‚öìÇþöìþ™ xyöìœy‰þ˜y „þîûÐ

ö¢„þŸ˜ éôé 3

˜#öì‰þîû öë ö„þy˜ ”%£z!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 2×20=40

5Ð S„þV þ™)’Å ²Ì!“þöìëy!†“þyîû ÷î!ŸÜTÄ=!œ xyöìœy‰þ˜y „þîûÐ

S…V þ™)’Å ²Ì!“þöìëy!†“þyîû îy‹yöìîû ~„þ!Ýþ šþyöì›Åîû ßþºÒ„þyœ#˜ ¦þyîû¢yöì›Äîû !î!¦þ§¬ xîßþiy=!œ
îÄy…Äy „þîûÐ 10+10

6Ð S„þV ö„þ£zª#ëû “þöì_ ́ ˜†” xöìíÅîû ‰þy!£”y îœöì“þ !„þ öîyGþÚ

S…V ~£z “þöì_ ́ ˜†” xöìíÅîû ‰þy!£”y ç öëy†y˜ !„þ¦þyöìî ¦þyîû¢yöì›Äîû ¢%öì”îû £yîû !˜•Åyîû’
„þöìîû xyöìœy‰þ˜y „þîûÐ 10+10

7Ð S„þV îû®y!˜ î,!kþîû œöìÇþÄ ¦þyîû“þ ¢îû„þyîû „þ“Å,þ„þ †,£#“þ !î!¦þ§¬ þ™”öìÇþþ™¢›)£ xyöìœy‰þ˜y „þîûÐ

S…V ›%oyîû xî›)œÄyëûöì’îû ¢yšþöìœÄîû Ÿ“Åþ¢›)£ îÄy…Äy „þîûÐ 10+10

8Ð ¢‚‡îkþ ”îû „þ¡ìy„þ!¡ìîû ›y•Äöì› ×!›„þ ¢‚öì‡îû ›‹%!îû î,!kþîû xyöì̈ yœöì̃ îû ¢yšþìœÄ ç îÄíÅ“þy
!‰þe¢£ xyöìœy‰þ˜y „þîûÐ 20


